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https://www.100test.com/kao_ti2020/261/2021 2022 _DB2_E4 B8
AD E9 80 9A E7 c102 261011.htm CREATE PROCEDURE
SALES.DB2PAGINATION(IN ITBNAME VARCHAR(2000),--
OO INISHOWFIELD VARCHAR(1000),-- O O O O IN NOIN
VARCHAR(1000),--0 0O 0O0O0O0O0OO0OOOOO IN
IWHERE VARCHAR(2000),--0 000 (U O:.:000
WHERE) IN IORDER VARCHAR(100)--0 O OO (0D O:00O
[ ORDERBY) IN IPAGESIZE INTEGER,--O 0O 0O OO OO0O
OJ00000000000000000000 INoUT
IOCURRENTPAGEIXINTEGER,--O O OO OOOOO OUT
OPAGESTARTROW INTEGER,--O 0O O OO OOO OUT
OPAGEENDROW INTEGER,--O O OO OO OO OUT
OTOTALROWSINTEGER,--O 0O OO OOOOO OUT
OHASPREVIOUSPAGE INTEGER,-- 0 0 OO O OO OO
OUT OHASNEXTPAGE INTEGER,-- U O 0O OO OO OO
OUT OTOTALPAGES INTEGER,--O O O OO O OUT
OERROR VARCHAR(100))--0 O 0O OO O O RESULT SETS1
MODIFIES SQL DATA NOT DETERMINISTIC LANGUAGE
SQL BEGIN DECLARE STRSQL VARCHAR(6000).-- O O O
DECLARE result CURSOR WITH RETURN TO CALLER FOR
S2. DECLARE exit handler FOR sqlexception-- [ 1 O [0 BEGIN
set OERROR =" error!” .END.-- BODY start -- if(iwhere’ * )
thensetiwhere="where’ |[|iwhere. end if. if(iorder’ * ) then
setiorder =" orderby’ ||iorder.end if.if(ijoin” ’ ) then set



join =" || ijoin. end if. set strsgl =’ 0Oselect count(*) from’ ||
itbname || ijoin || iwhere. prepare s2 from strsgl. open result. fetch
result into ototalrows.-- [ I [J [0 close result. 100Test [ 1 00 O [
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